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Ela~&k 4
Ix = 3.19 (m)
wl1= 3.34 (kN/m?)
t =15.0 (om)
dx =t - dt = 7.50 (om)

jx = 7/8xdx = 6.56 (cm)
wx = Ly*xwl)/Lx* + L
Mx1 =1 x wx x Lx% /
Mx2 = 1 x wx x Lx%2 /1
Myl =1 x wl x Lx%2 /1
My2 =1 x wl x Lx2 /3
| =127 / atMax = 39. 66
Uil~h16
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wl1= 3.34 (kN/m?)

t =15.0 (om)

dx =t - dt = 7.50 (om)
jx = 7/8xdx = 6.56 (cm)
wx = Ly*xwl)/Lx* + L
Mx1 =1 x wx x Lx% /
Mx2 = 1 x wx x Lx%2 /1
Myl =1 x wl x Lx%2 /1
My2 =1 x wl x Lx2 /3
| =127 / atMax = 21.67
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3.6.3. HAFDER

X5

L1

VT

L1

L2

58Y W~¢&

SD295A Lft = 195.00 (N/mm?)
Fc = 21 Lfs = 0.70 (N/mm?)
LEEHR : 2-D13 TEEHR : 2-D13
18418 : 2.43 (m) L1 =546 (m)

w = w2 x BiENg = 5. 192 (kN/m)

b =150 (cm) = 55.0 (cm)

d =D-dt = 47.50 (cm)

j =17/8xd" = 41.56 (cm)

A =bxj = 623.44 (cm?)

ML = (wxL12) / 8 =19.35 (kN-m)

QL = (wxLl) / 2=14.17 kN)

at =ML / (Lft = 2.39

T /LfS_Q/ (AXLfS) =0.32 0 OK
168Y &£~h

SD295A Lft = 195.00 (N/mm?)
Fc = 21 Lfs = 0.70 (N/mm?)
LEEHR : 2-D13 TEEHR : 2-D13
£4848 - 1.56 (m) L1 =0.91 (m

w = w2 x &8 = 3.333 (kN/m)

b =150 (cm) D =70.0 (cm

VT = 15.00 (kN)

d =D-dt = 62.50 (cm)

j =17/8xd = 54.69 (cm)

A =bxj = 820.31 (cm?)

ML1 = (wxL12) / 8 =0.35 (kN-m)

ML2 = (wxL22) / 12 = 0.23 (kN-m)

QL = (wxL1) / 2=1.52 (kN)

QS =QL + VT = 16.52 (kN)

Mt = VT xLT = 13.65 (kN-m)

Ms =ML + Mt = 14.00 (kN-m)

atL = ML / (Lftxj) =0.03 (cm?) =< 2.54
atS = Ms / (sftxj) =0.87 (cm?) = 2.54
T/ fs=0/ (AxLfs) =0.03 = 1.0 0K

T /Sfs=Q/ (AxSfs) =0.19 = 1.0 0K

Sft = 295.00 (N/mm?)
Sfs = 1.05 (N/mm?)
ST :D10@200

dt =7.5 (cm)

(cm?) = 2.54 [2-D13] OK
=1

Sft = 295.00 (N/mm?)
Sfs = 1.05 (N/mm?)
ST :D10@200

L2 =0.91 (m

dt =7.5 (cm)

2-D13] OK
2-D13] OK

2011/11/17 23:54:53

P 142



3.6.4. £EMEEE

#¥&E70 Fs = 2.10 (N/mm?) Fb = 22.00 (N/mm?)
Sfs = 2.00xFs.~3 = 1.40 (N/mm?) Sfb = 2.00xFb.~3 = 14.67 (N/mm?)
b =9.0 (cm

L1 =15.0 (cm) VT = 8.50 (kN)

Q =V = 8.50 (kN)

M =0xL1 = 127.50 (kN-cm)

hminQ = (1.5xQ) / (bxSfs) = 10.12 (cm)
hminM = / (6xM) / (bxSfb) = 7.61 (cm)

=NEEN hmin = 10.2 (cm)

#¥&E70 Fs = 2.10 (N/mm?) Fb = 22.00 (N/mm?)

gfs = S 80?F)s/3 =1.40 (N/mm?) Sfb = 2.00xFb.~3 = 14.67 (N/mm?)
=9.0 (cm

L1 = 167.0 (cm) L2 =15.0 (cm) VT = 8.50 (kN)

Q =VixLl / (L1 + L2) = 7.80 (kN)

M =Q0xL2 = 116.99 (kN-cm)

hminQ = (1.5xQ) / (bxSfs) =9.29 (cm)
hminM = / (6xM) / (bxSfb) = 7.29 (cm)

=NEEWN hmin = 9.3 (cm)
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3.7. itk

3.7.1. EfEIDRE

Mo : BRfE|E— A b
Sw 2EE
L XY AROEMES
A Yw/2 L HMERFE—A2 bk HE (Zwxl)
(kN) (m) Mo  (kN-m) /(2 %Mo)
262.15| 15.47 | 46.92x3.56 = 166.79 24. 31 = 1.0 0K
262.15| 14.11|46.92x3.56 = 166.79 22.17 ] = 1.0 0K
yallcl sw/2 L BREEE—A2F HE (Zwxl)
(kN) (m) Mo  (kN-m) /(2 %Mo)
X 262.15| 15.47 | 74.42x3.56 = 264.58 15.33| = 1.0 0K
Y 262.15| 14.11 | 64.29x3.56 = 228.56 16.18| = 1.0 0K
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3.9. xBET7Uh—HRIL FDEEE

#2E70
TEME L =105 (mm)
AT HERE Fc = 18.0 (N/mm?)
Froh—mRILEE d =12 (mm)
BORE Foh—mRIL k| BEHEREAEHMAH KN)
M12 8.72
Fc = 23.4 [IN/mm?] D#ifE
M16 15. 51
M12 7.65
Fc = 18.0 [N/mm?] D#ifE
M16 13. 60
Pa = 7.65 (kN)
A &Y SHEEEOERFR AWM A KN | A3 | BEXREY
X | 0Oa - 19. 263 3
— 19. 263 3 3
2 - 9. 631 2
— 9. 631 2 2
4 - 7.134 1
— 7.134 1 1
7 - 7.134
— 7.134 1 1
11 - 18.193 3
— 18.193 3 3
16 - 18.193 3
— 18.193 3 3
Y Ly ) 15.517 3
! 15.517 3 3
& T 11.950 2
! 11.950 2 2
v T 9. 631 2
! 9. 631 2 2
ES T 14. 269 2
! 14. 269 2 2
n T 9. 631 2
! 9. 631 2 2
z T 9. 631 2
! 9. 631 2 2
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